revi

MELBOURNE 10" X 12

10' x 12' Melbourne Pavilion

PAVILLON

Pavil
GUIDE D'ASSEMBLAGE

Modeéle / Model: LGMF80T1
Assembly Instructions

POUR TOUTE ASSISTANCE,
CONTACTEZ VOTRE DETAILLANT.

your re

For assistance, contact



PREASSEMBLAGE / PRE-ASSEMBLY

Outils requis (non inclus & l'intérieur des boites) / Tools required (not included in boxes)

Maillet en caoutchouc
Rubber mallet

Tournevis étoile
Phillips screw driver

Perceuse
Drill

Méche 5/32” Bit

Méche 7/32” Bit

'

&

= @
A~ /\! o= —
Casque de sécurité Gants Lunettes de sécurité Escabeau Niveau
Safety hat Gloves Safety goggles Step ladder Level

Guide d’assemblage pavillon Melbourne 10’ X 12’ / 10’ X 12’ Melbourne Pavilion Assembly Instructions

2




PREASSEMBLAGE / PRE-ASSEMBLY

Liste des piéces (1) / Parts list (1)

A £ x4 C bﬂ X2
Uil |
C1 X2 C2 X2
= 57 i =
C3 'Ff" _ X2 D //- x4
“‘ Hl| e
P
Nl
E x 6 F x4
P
F1 x4 G x4
/ar’ %
& P —
G1 x4 G2 X2
& ) o
&7 S
& ¢
H == x4 H1 x4
> =Y Ny
C—
H2 X2 B
x4 x4

, réVI L Guide d’assemblage pavillon Melbourne 10’ X 12’ / 10’ X 12’ Melbourne Pavilion Assembly Instructions

3




PREASSEMBLAGE / PRE-ASSEMBLY

Liste des piéces (2) / Parts list (2)

J1 x4 K x4 L x4 M x4
N x4 P x1 P1 x1 x4
Q1 X6 R x8 S x4 S1 x4
T x4 T1 x4 U X2 U1 X2
é
\'} x4 \'A| x4 w x 104 X x 20
% @
Y x4 z x4 1 x 130 2 x 25
M6x12 M6x16
3 x 32 4 x4 5 x8 6 x1
] S g B L~
M s4
ST4.8x10 M5x10 M6x15

*Pieces W, Y et Z - Seulement pour modele qu’inclus moustiquaire/rideau. / Parts W, Y, and z - Only for the model that includes a set of screens and curtains.

, réVI L Guide d’assemblage pavillon Melbourne 10’ X 12’ / 10’ X 12’ Melbourne Pavilion Assembly Instructions 4




ASSEMBLAGE / ASSEMBLY

Etape 1/Step1

s,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 5



ASSEMBLAGE / ASSEMBLY

Etape 2/Step 2

.,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions



ASSEMBLAGE / ASSEMBLY

Etape 3/Step 3

M6x12

@8)(

M6x15
@ 8x

s,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 7



ASSEMBLAGE / ASSEMBLY

Etape 4/ Step 4

s,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 8



ASSEMBLAGE / ASSEMBLY

Etape 5/Step 5




ASSEMBLAGE / ASSEMBLY

Etape 6 et 7 /Step 6 and 7

.,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 10



ASSEMBLAGE / ASSEMBLY

Etape 8/ Step 8

s,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 11



ASSEMBLAGE / ASSEMBLY

Etape 9/ Step 9

Trevi®

1x

M6x16

@3X

M84

@1x

12

Pavilion Assembly Instructions

10’ X 12" /10" X 12" Melbourne

Guide d’assemblage pavillon Melbourne



ASSEMBLAGE / ASSEMBLY

Etape 10/ Step 10

) | révi'." Guide d’asse

13



ASSEMBLAGE / ASSEMBLY

Etape 11/ Step 11

Trevi®

@4x

@4x

@ZX

14

Pavilion Assembly Instructions

10’ X 12" /10" X 12" Melbourne

Guide d’assemblage pavillon Melbourne



ASSEMBLAGE / ASSEMBLY

Etape 12/ Step 12

Su=

ST=

—i

®4x

O

@2x

@4x

s,
, réVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 15



ASSEMBLAGE / ASSEMBLY

Etape 13/ Step 13

@4x

@Zx

M6x12

(1) 10x

v

ST4.8x10

@8x

@1)(

16

.,
, I'éVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions



ASSEMBLAGE / ASSEMBLY

Etape 14/ Step 14

rtains

nd cu

of screens a

t

rideaux. / Only for the model that includes a se

et

emble de moustiquaires

* Seulement pour le modele qui inclut un ens:

s,
, réVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 17



ASSEMBLAGE / ASSEMBLY

Etape 15/ Step 15

/“'\

of screens an

t

rideaux. / Only for the model that includes a se

et

emble de moustiquaires

* Seulement pour le modeéle qui inclut un ens

s,
, réVI L Guide d’assemblage pavillon Melbourne 10’ X 12 / 10’ X 12" Melbourne Pavilion Assembly Instructions 18






